


T LN o > .

N (@H~(\~e°]~®

o «dib () o ey .
£1“§:~ﬂ\m(f” R _,(\')>‘

1 T -(6)
= = W%Z., (‘;_9(.. - (KC;)"@

- (3_ ~(t~6)))
Ak losest” CW"%P\; v oL
= Qo = O< ‘“(La
Lt e
W&D&%wr% (%e Sev\,n'aé« cx i U ot
o = W . '--(1@>
1 ~¢







&7[9 = améf __.(@

/\@- 'e?“ﬁ@“w@; d5ee 4 (eruﬁ \;' ‘-
ap = WG -0

QOC/‘)

L& o, & some fesudlra ET dlan M)
BN f\/(tr)
et = (\ I —-—(&é)
C‘/\\Q&\Pg“\"’%éa &”% %Lﬂ‘(%k(zﬁ,};(
- <\ & -
X ( 3> = (1)
Fw Z(\/S,Clbs A <37> % LG{QJ/:&KQJ/ ’s
Y= 0.5 -f\ﬁ=—0‘w7 (25
e %E_f_&; s s sgle g} __
//E/c: = vac} — (1%)




‘" 9> S , - {/O) __~<:€#>Q ’_(39
. Xc/ . Q/‘)

Sage A= o \*56\%\0% IW(H)

2449 x 10 S

4 e
oSLS
Se N ‘MX\O /(D)

~

) Ad142 2
|, 66> \0 @‘?Y




